Ze3 AT@OTOULL, T3 ATWOTOUY T@ed. T2,

VYYD HOLT BIS

<]
— o, .
e e, ! m, m— .al,.,__r_-_.-...il
"\l'-'-fv'-“r t"ﬂ (o o iy II‘ o e T N s {}
ey
- e U o o Y oaw o a ey - — - s - — — - — - — _H,-l.\.;q—'_n'—'q
A=r A I':‘\l [N Ehalbedw  Geaasdd VTR N v B L BE what o N o vh.!'-:L \-ﬂ'v'\J‘:LI o Tt
i 1 =] = i 1
- ™ P
T L P - ot T et e e e e, R T T Lt et L L L a P
B b b '-’I [[* VH'-;J i""'n:_r; T L L o Tt b‘"::"h"‘l“l':"\i-lf- Pt o =) ':'H\-H-l-rl'i Bw v lwonw W h-"!-l"'h!'\-ﬂ-l\ul"d'
v ey s (= i % i
& — OMR — | — o S - =\ T, o L
-, o - —_— u = —_ s, = —_— —_—— T
L e ™ { } o "\JVV'J“JV\.-'J "-I'V'J‘f V'J‘r'"'\-f V'-'--r '\-\.'H-r Lo v"-\-' e v-fv-rv\.-v

_r-_d"=\,.,_- - — e e, 5
G 0 T Dl o [ T

1x40=40

(_"u

Four choices are given for each of the questions/incomplete
statements. Choose the correct answer and shade the correct
choice in the OMR given to you with blue / black ball point pen

1) Sege I8 a Aang %8l d S0 AERO80 R0k N JONTNoNS SwEd
e sl B

1_! —_
VSO
R

Formulause to calculate Sum of n terms of an AP
whose firstterm is @ and common differenceis d

(A) sn= 7 [a+(n-1)d] (B) Sn= 7 [a+2(n-1)d]
(C) $n= 7 [2a+(n-1)d] (D) Sn= 7 (n+1)d

2) 20 AoRT Sbend DAcerned gaaen 120 cm? 23y 480 cm? =gU
HRNY S0RT mminy ShTes
Area of two similar triangles are 120 cm? and 480 cm?respectively,

then theratio of their corrosponding sidesis
(A)1:4 (B) 1:2 (C)4:1 (D) 2:3

3)2x+3y—-9=0 Wy 4x+by—18=0 =3 wERed ﬁf‘mé&ﬁ FineTTands droLTH
=OTONY =04,
Number of solutions for the pair of Linear Equations
2x+3y-9=0and4x+6y-18=0is

(A)0 (B) 1 (©)2 (D) =002 Infinite




1) RS, 2o BBFFRR AIFAT VO 70,

Thenumber of points in which a tangent touches a circle are

(A)0 (B) 1 ()2 (D) =00 Infinite

AABC ~ AABC tedmeament AABCoR wmeaEng: AABC
od mENY E Oel, wewd Z=e00d BC'=bcm, A'C'=6an & BA'=7cm
=33 AABC o»BC 208y AC mesne e3nes gaommen

On constructing AABC ~ AABC theratio of the corresponding sides of

AA'BC are > times the corresponding sides of AABC. if BC'=5cm,

A'C =6=:ma & BA=7cm thenthelength BC and AC of sides ofA ABC

(A) Zcm, 3cm (B)3cm,3.6cm (C)3cm,4.6cm (D) 4cm,3.6cm
6) x2-6x=0 [nF F2NeFTRT RN

Theroots of the equation x2 - 6x=0 are
(A) (0,-6) (B) (0,6) (C) (6,-6) (D) (-6,-6)
7) tan@ - cot(90°-8) wmo 23, The value of tan@ - cot(90°-8) is

(M1 (B)2 © (D)0

8) (10 — 25) &8 WwrFoITT =G, Wow.
The midpoint of the class interval (10 -25) 1s

(A)18 (B)17.5 (C) 17 (D) 15

9) Sesnivh T W 72030 THN BoHIT PIFI TITUD.

Volume thhe frustum of a cone whose heightis ‘h’ and radii of two
circularendsare r1 andrzis

(4) g mth(rs + 72 + 717) (B) g Tth(r2+ 12 4 112152)

()3 mh{ry *+ 12 737 (D) mth(ry+ 2+ 74717




10) P(5,2) aderzuowmy y-eg000 wtE GRT
The distance of the point P(5,2) from the y — axisis

(A) S=zniss units (B) 4 =m=aniss units
(C) 2=ma=ngs units (D)7 Sw@nssunits
11) a®3n9g 332030 38 SRmE?
Which among the following is an Arithmetic Progression?

(A)1,4,6.... (B)12,10,14..... (C)35,30,25..... (D)8,13,19,.....
12)7, 4,1, 2 ... . B AZW0B0 FFoh Sy=
Thevalue of S5 inthe Arithmetic Progression 7,4,1,-2......
(A)1 (B)3 (C)-3 (D)12
13) 6,x,y, 18==m080 Je@ongud x & y €9 In the Arithmetic
Progression 6, X,y, 18the value of xand y respectively are
(A)10,14 (B) 10,13 (C)8,12 (D) 14,10

14) 00 A=®030 ok ‘N'He HF an=5-2n ©TC WI@I, BFA

e

The common difference of an Arithmetic Progression whose nt® term is
an=5-2nis
(A)-3 (B)-2 (©)-1 (D)2

15)850et wEnd BeEndmy 79N fRUD, YRINdY SRR vowdacs
3zhzesend modéA. The length of the sides of a triangle are given below.
Which of the following forms a right-angled triangle?
(A) 7cm, 24cm, 25cm (B) 3cm, 8cm, 6cm
(C) 50cm, 80cm, 100cm (D)17cm,12cm,13cm

16)=0r: Ftan  Samnd UmitAm WmEiNee——————
The corresponding sides of two similar triangles are

(A) m=eenaeds Equal (B) m=mogdewndags Parallel
(C)er=amndgs NotEqual (D) a=mmamegsmenc@s Proportional

17) 5cm,12cm, 13cm PN RCAT $Rechy DBers ©vE

Among the pythagorion triplets the length of hypotinuse s,
(A)5cm (B)12cm (C)13cm (D)17cm




A

D/
1§) 8 € #339DE| BC,AD = 2cm, DB = 3cm, AE=3cm 38 EC=

In AABCif DE|IIBCAD =2 cm,DB =3 cm and AE= 3 cm then ECis

equal to

(A)3.5cm (B)4.5cm (C) 4.6cm (D) 5.4cm

19)x+y=4 52 X -y=2 ZWeFTeondsy, WRARA X DB, y v &5Snsd gmn
On solvingthe equationx+y=4 andx -y = 2 thevaluesof xand y is
(A)(3,1) (B) (2,2) (€)(1,3) (D) (0,4)

20)x+4y=>5=3y 3x+2ky+15=0 Jeamgs wescony decdnon
sometagndod KHdd  Ifx+2y-3=0and5x+ky+7=0area

pair oflinear equations which have no solution then the value ofk is
(A)1 (B)e (C)3 (D)10

2Dax+biy+ =0 =23, axx+ b2y + 2 = 0 Seammzy Banevceend dacknen
¥ Uened 000 Bedeold RENR0RT 8 FYND odme Iowog
OOIRNREST )
If a1x + biy + &1 = 0 and azx+ bzy+ c2 =0are pair of linear equations
which have infinite solutions, then the correct relation amongthe
following is

b b
(A) L (B) L
a2 b2 c2 a2 b2

al b1 cl al b1 el

S ol T B e B ™

233539 0 B38eor. PAm#®: PB z8r8ns . «a3

2AOB+ £APB= [n the figure if PA and
PB are tangent to the circle with centre ‘0’ then ZAOB+ 2ZAPB =
(A)90° (B) 180° (C)120° (D) 360°




23)53% ®R0DT wEmE ABFENG B0,
The number of tangents that a circle can haveis
(A) =00z Infinite (B)2 ()3 (D) 1

24) ggrene ST feed 100°9WE0T L.ow HEE, REN0N LOMINOT LW
ABFENTDy, Cu¥REeTIns FeonRy BrNY IrE JuRiTid ST

To construct tangents to a circle from an external pointsuch that the
angle between the tangents is 100° then the angle between the radii
should be

(A) 1000 (B)90¢ (C) 50¢ (D) 80°
25) (31,y1) *0By (X2, y2)Romns I@LE et tomkiEodns Arg  The

formulato find outthe distance between the points (x1,y1)and (xz,yz2)

(A) J|x1Hx2) 24+ (y1+y2)? (B) \{ (x1+x2)?— (y1+y2)?

(C) \/ (X1- %)%+ (y1-y2)? D) \/ (x1-X2)2- (V1 -y2)2

26) A(1,1) B(0,0) =3 C(a,b)2ockniss Zo¢desmnisamnncd §ns cimsm

Aocded Fowog. IfA(1,1) B(0,0) and C(a,b) then the correct
relation among the following is
(A)a=2b (B)a=b (C)b=2a (D)a=-b

27) x- f:s-gd e odmmoe Domdd DUerZuos & d..'aa’jdgdaid
The coordinatesofthe pointon the x -axis will be in the form
&) (0y) (B) x,0) (€) (0,0 (D) Ey)

28) X2+ 6x+ k=0 SnFzdoestond Swenst Zmod 'k's @d9cin

If the roots of the equation x2 + 6x+ k=0 are equal then the
valueof'k'isequalto

(A)5 (B)-9 (©)8 (D)9
20)x(x+1)=30 =ns Zinesdan SUs- TR
The standard form of the quadratic equation x(x+1) =30is

(A) x2+x=30 (B)x?-x-30=0 (C)x2+x-30=0 (D)x2-x=30




30) (x+4) (x-4)=9=c0 x © &<
If (x+4) (x-4) =9 then the value ofxis

(A) +5 (B) 5,13 (€) += (D) 4, -4
—sin? —sin® .
31) - 2= %33 2. Value of 2’4 this is
1—cos®4 1-cos*4

(A) tan’A (B) cot?A (C) sec’A (D) cosec?A
32) (1+cos@ )(1-cosf ) mcowey .

product of(1+cosf )(1-cosf ) is

(A) tan?@ (B) cos?@ (C) sec?@ (D) sin? @
33) cot (90°-30%) od> edefodwo_,  valueof cot(90°-307)

A) 7 (B) 1 () V3 D) ;

3}tan 0 = cotBsad 0 © &BScdw, [ftan® =cotBthenBis ...

A)0° B) 45¢° C)90° D) 60°
35) L.l SEoRg OB DoeT DB R DT IENW FepRT ROWRT
RTeF ZR0TNT(15,20) ST WERLIT LS

In a distribution “more than type” and “less than type” ogive are
intersecting at a point (15,20) then the value of medianis

(A)15 (B) 20 (C)10 (D)35
36) wEeBRmy, FORGROINES BRE, Formulausingto calculate Modeis

fa=fo 2fi—fo

A) I+ [———]h B) /+ [——]h

(&) [Efi—fu—fz] (B) [fi_fn_fz]
fi—fo fi—fo

C) I+ [———]h D) I+ [——]h

© [Efz—fn—fl] (D) [fi—fn—Efz]

37) 12cmX 6cm X 3cm 930003 Spean ©oiE Foegdodmy, Fon
PET TN TOBSF AN U0 Tde [N0T BT Yug
A cuboid of dimensions 1 2cm x 6cmx 3cm is melted to form a cube,
then the edge of each face of the cube is

(A)21cm (B)12cm (C) 6cm (D) 3cm




38) wgFnneds DermbedDhens
Total Surface Area of a solid hemisphereis

(A) 4mr? (B) 3mr2 (C) 2mr? (D) i

39)7cméx ,10cm  S3Tachs A90B0T maﬂﬁrd:eei‘é DAeear

Curved Surface Areaofthe cylinder whose radiusis 7cm and height is

10cmis
(A) 440 cm? (B)410 cm? (C) 432 cm? (D) 220 cm?
\ ( |
40) \\) ku B TEAYT 3¢ HRcHncimNGES
Ty dried The Combination of solids in the capsule is

(A) 2adoz@dnegs 2 cylinders

(B)2ugrnieed + Adoz@Edngs 2 hemispheres + cylinder
(C)2rimedno+adod@onds 2 spheres + cylinder

(D) 139033 + 1 wgrniwred 1cylinder + 1 hemisphere




41.. If the length of the conductor increases the resistance become

A. Increases

B. decreases

C. No changes

D. becomes zero

42. Among the following, the effect of refraction of light is.

A. The reflection in the mirror.  B. Flowers appear in different colours.
C. Blue colour of the sky

D. A Coin immersed in water appears to come up.

43. The safety device which protects electrical circuit and electrical
instruments is

A. Ammeter B. Fuse C. Rheostat D. Galvanometer

44. The position of the image obtained by a convex lens when an object is
kept between F1 and 2F1 (F: principal focus of the convex lens)
A. between F2 and 2F2 B. at 2F2 C. beyond 2F2 D. at infinity

45. An electric lamp whose resistance is 20 Q and a conductor of 4 Q2
resistance are connected in series to a 6V battery as shown in figure. Then the
total current flowing through the circuit is @

A. 36A 40 20
B. 0.6A
C.4A 7 16
D. 0.25A
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46. In Fleming’s right hand rule fore finger indicates direction of the
A. electric current induced in a conductor

B. movement of the conductor

C. magnetic field

D. electric current

47. Energy transformation taking place in Hydro-electric power plant is

A. Kinetic Energy=» Electrical Energy=> Potential Energy—> Mechanical Energy

B. Potential Energy =» Kinetic Energy > Mechanical Energy —»Electrical Energy
C. Kinetic Energy = Potential EnergysMechanical Energy —s Electrical Energy
D. Electrical Energy=>Kinetic Energy = Mechanical Energy = Potential Energy
48. D.C generator works on the principle of

A. Electromagnetic Induction B. Magnetic effect of Electric current
C. Heating effect of Electric current D. Chemical effect of Electric current
49. A major component of biogas is

A. Methane B. Ethane C. Butane D. Hydrogen

50. The device which converts electrical energy in to mechanical energy

A. Electric Motor B. Iron Box C. Generator D. Dry cell
51. Match the following:

a. Electric charge 1) Volt
b. Resistivity i) Coulomb
c. Potential difference iii) Watt
d. Power iv) Ohm-meter
A) a-11, b-iii, c-1, d-iv B) a-ii, b-iv, c-1, d-iii

C) a-iv, b-ii, v-1, d-iii D) a-iii, b-iv, c-I, d-ii
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52. The reason for the Inner wall of solar cookers are painted with black
A. To absorb more heat B. To reflect light
C. To avoid corrosions D. For converging rays of light
53. In domestic use, the method of connecting electrical equipments is.
A. Series connection B. Parallel connection.
C. Combination of series and parallel connections. ~ D. None of the above

54. If the focal length of a convex mirror is 100 cm , then its power is

A) 1D B) 10D C) 0.1D D) 0.01D
55. Gas liberated when Zinc granules reacted with hydrochloric acid is
A. Nitrogen B. Carbon di oxide C. Hydrogen D. Oxygen

56.. Which of the following represents the arrangement of Reactivity series
in ascending order
A. Mg>Fe>7Zn> Al B. Mg>Zn> Al >Fe
C. Mg>Al>Zn>Fe D. Al>Zn> Fe> Mg

57. The metal with highest malleability is

A. Silver B. Gold C. Copper D. Zinc

58. Structural Isomers have

A. Same molecular formula but different structure.

B. Same molecular formula and structure.

C. different molecular formula but same structure.

D. different molecular formula and different structure.



59. In Galvanization, Iron and Steel are coated with a layer of

A. Zinc B. Copper C. Lead D. Silver
60. Our body works within the P" range of

A)7.0-738 B)7.0-8.7

C)7.0-8.0 D)7.0-8.8

61. An example for saturated Hydrocarbon
A) C;H, B) C,H, C) CH, D) C,H;s

62. In the modern periodic table as we move from left to right, the

metallic charecter

A. decreases B. increases
C. remains same D. equals to the level
63. The functional group in the given carbon compound is
H H H
H-C-C-C=0
H H
A. Ketone B. Aldehyde C. Alcohol D. Amine

64. The number of periods and groups in the modern periodic table are

respectively
A 18 and 7 B.7and 18

C 9and7 D.7 and 9
65. The electrolytic solution used in the purification of copper is
A. copper sulphate B. Ferrous sulphate
C. Acidified Ferrous sulphate D. Acidified copper sulphate



66. When a base is added to water ,

A. OH ~ ion concentration increases  B. OH " ion concentration decreases

+ . . ‘ + . X
C. H " ion concentration increases D. H " ion concentration decreases

67. Generally Covalent compounds are poor conductors of electricity

because of
A. Low melting point B. Weak electrostatic forces of attraction
C. Chemically stable D. absence of charged ions

68. The electronic configuration of the elements X , Y and Z are X -2.,8,
Y -2,8,7 and Z - 2,8,2 respectively. Then
A. ‘X’ 1s a metal B. ‘Y” is a metal
C. *Z” 1s a non-metal D. °Y” is a non-metal and “Z” is a metal
69. The plants use this method for excretion
A. Transpiration B. shedding of leaves
C. in the form of resin and glue D. all the three are correct
70. What will be your opinion for the solid waste management at your school.
A. Books are not to be wrapped with plastic paper
~ B. Avoid using plastic bottles
C. Avoid using use and throw pens
D. All the above
I 71. The material that change slowly their form and nature are

A. Waste papers B. Plants fiber
C. Peels of Vegetables D. Used tea leaves



72. A plant hormone that promotes cell elongation in the tip of the stem

A. cytokinin B. Gibberellin C. Auxin D. ethylene

73. A pure tall pea plant (TT) is crossed with a short pea plant (it). The ratio
of pure tall pea plant to the short pea plants produced in F2 generation is:
A.3:1 B.1:3 C.1:1 D.2:1

74. The gender of a child will be determined by

A. Chromosome of an ovary B. X chromosome from mother

C. Chromosome of Both father and mother =~ D. Chromosome of a sperm
75. The ° Biodiversity hotspots’ are

A. Ponds B. Lakes C. Deserts D. Forests

76. The process of utilization of energy is

A. Reuse B. Refuse C. Recycle D. Repurpose

77. Identify the correct pair of analogous organs among the following.

A. Fore limbs of humans and frog B. Wings of butterfly and bat

C. Wings of bird and bat D. Fore limbs of lizard and frog

78. The part of female reproductive system where the fertilization takes place.
A. Uterus B. Fallopian tube C. Overy D. Vagina

79. The hormone which regulates blood sugar level

A Insulin B. Adrenaline C. Thyroxin D. Testosterone

80. The Ozone layer shields the living organisms on the Earth from

A. Ultraviolet rays B. X-Rays C. Infrared Rays  D. Sun rays
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I. CHOOSE THE RIGHT ANSWER: 1X40=40
81. 259333, WO ANTREDONT, T, TOCIOIITITE), MITISA.
Arrange these Europeans who came to India in chronological order.
a) FPLEDENCRT) &)02300 BT3B QONRVAD
Portuguese French Dutch English
b) LD ENCITI YONLRTI T323,30 §3)0WFT)
Portuguese English Dutch French
C) RRLWRENCRT T323,3) QON R3B) 30T
Portuguese Dutch English French
d) &0TFT) FELRENCAT) B23,80 YON R3D
French Portuguese Dutch English

82. 1846 3&). 23 Bd 03I, AN, T SWIS €383 2,033,
British and Sikh signed agreement in 1846 was
a) DTB03T &3)39) 2,583,003
Conginuous Friendship Pact
b) 233,0° 2,83,,0T3
Treaty of Bessein
C) ©TBPCT® 20e, 0T
Lahore Agreement
d) Wos0A° 2,e3,, 01

Treaty of Paris




83. 33T 0BT DFD 335538, SFBROINOE 30D OTIT.
The report which was the base of modern Education in India
a) 2FICEE HYT® DTVD
Charles Wood report
b) &3> 30D
Well report
C) BOTX® DOD
Duncan report
d) eDToS3 L[TD
Macaulay report
84. BONROD BT TWONRT 2INsTOTED
Hulagali Bedas rebelled against the British because
a) W)EIRT IPAT B3, 307
British imposed heavy tax
b) B, eNTLYR B3, A3
Doctrine of Lapse policy
C) ATVIONT Ay B33
Subsidiary Alliance system
d) 3X,, WFTOD DWEOR T,
Act of Banned the usage of weapons
85. 2,0T3 e30TURL RVRRTI AT, TRINLOT 2ue3, 08
First Anglo-Mysore war ended with the treaty of
a) SNWYA® 23,003
Madras Treaty
b) 2DONLRT) 2,a3,,0T
Manglore Teaty




c) 233,0° 2,383,083
Treaty of Bessein
d) deBon=E,0 23,033

Srirangapattana Treaty

86. 29T 3T AP0, 3T 00RO, T 3503 I3, O3NETT RKCT I,
NOTI TWJAT ToT3300.
One who spread the Indian culture all over the world and inspired our youths
a) Do2O00° 23/aTB* Do O3*
Raja Ram Mohan Roy
b) BOHSOTW ATA 3
Dayananda Saraswathi
C) ©9IWR0E3*
Annie Besant
d) M) )ELTOSOT

Swamy Vivekananda

87. A390 ;RQ)T 20, NP, WEIRTI B8 A3 eNROT RBJT, WBI.
Satara, Jaipur, Jhansi states became part of the British under this policy.
a) ABOODNT A5 R3S
The Subsidiary Alliance
b) B3, &T,PNR B3,
The Doctrine of Lapse
C) WARBTD €393 AL
Divide and Rule Policy
d) 03¢0 WFOToT3

Political game plan




88. WOMIPT )PBIONT), CRDAT a3;me)030°
Viceroy who made the partition of Bengal
a) OVTFE FOVIFODX
Lord Cornwallis
b) ©TE*E 3o TR
Lord Dalhousie
C) QUTE THRE D
Lord Curzon
d) To0é3°E T_4a0°

Robert Clive

89. 20830 Toed,,LO0N TAONA® & 09)8023E3 20 eIRE a33), OOTI
TCONIITT.
The First twenty years of the Indian National Congress is called as
a) eDOTIMNPe) C3NVN
Moderates
b) 3a3Meedd O3N
Radicals
C) T903TD OIN
Revolutionaries
d) MeO® O3NN
Era of Gandhi
90. 259830 TR0 FoONA® & BOFR)T LIPHXTICI 935530
The President of Haripur Convention of Indian National Congress
a) AWOET® 3@ 2003 3é3Le®
Sardar Vallabhabai Patel




b) @0 ©HEDITIOI*
Lala Lajpath Roy

C) NP0
Mahatma Gandhi

d) R WOTI) WelA®

Subhash Chandra Bose

91. BADDMIN F3LT TocR,,,T3 2LRTONY, B33 eNORATTD.
He increased his pressure for the creation of independent Pakistan.
a) 22 W) Y FLO 32"
Moulan Abdul Kalam Azad
b) 2B €9¢) 2209,
Muhammad Ali Jinnah
€) &) ABRCTTT
Ali brothers
d) 00 €920, 05° NPeT°® WO°
Khan Abdul Gafar Khan
92. 2W)E3RTE 25983 2IE3),, 3RON YT O30 2FFRPOR e330000NIY,.
‘British, you Quit India’ was the statement declared in
a) 9IRBTOT FFP
Non-Cooperation Movement
b) e[ TSR ZON IFPHRY
Civil Disobedience Movemenet
C) B,£3° YOLOI ISP
Quit India Movement
d) 3P T WPIY

Khilafat Movement




93. ATRET® 3 2I003° &3E3CT* 923030, LI0TIT AF,S eDDVR s OT) DT
FTOONITT.
Sardar Vallabhabai Patel is called as Iron man of India because
a) 20T W03 N TLFS
State reorganization
b) R,303) BRCTES
Contribution of Freedom Movement
C) BDRA ATOE T VWS
Formation of New Government
d) B0 BOFOSNY DDEIETTED FTOONE

Integration of Princely States

94. 0IRPIIE 371K IR TENS 003 AeD Ay DTN eNBIE 003
30T
Article 371 in the Constitution is given the importance to
a) TRLeIIDTI
Communalism
b) 23)230,2300
Corruption
C) APV RT IRINOI3
Social Inequality
d) TBATI

Regional inequality




95. 23903 ATTVON L3O, TR N BRDATWRT) &I LI0CI3TI
AT TOON DO Bredod.
The Architect of our Indian foreign Policy is
a) AWOET® 23 2003 3é3Le®
Sardar Vallabhabai Patel
b) 2523030° Py JTBT)
Jawaharlal Nehru
€) €983 20D 023
Atal Bhihari Vajpayee
d) 2DT3, MEOD
Mahatma Gandhi

96. 23903 5 TFNT 03003 DO, 3RO TOIFAES 2,3,003F, Ao BOBT3.

India signed the agreement of Panchasheela Principles to country.
a) WOB .
Pakistan
b) 25009 3¢3
Bangladesh
C) O
Russia

d) 23¢0e
China




97. 23933 R0IPOITT 03993 ZIONTE). 3DRLIR B B/,NF), SeDRDAT.
In the Constitution of India, Fundamental rights are discussed in
a) eNRTIOD
Part Il
b) QTTBIOD
Part Il
C) DO, 30
Part IV
d) 380D
Part X
98. B8 TPNS O30e3 AeA3ONI), DT, ROA 0D A el AOT)E DOT
ieloncrlel
This institution is like the cabinet of UNO
a) AT A
General Assembly
b) B3, T3
Trusteeship Councial
C) A3
Secretariat
d) 235330 R3S
Security Council
99. 1976 3)_ R, T30 TOOD, 0N, dort 3T R 2300BEANID.
In 1976, Untouchability Act was amended as
a) VDR, JOMTB T,
Scheduled Caste Act
b) Don T0VIeR; DT TE ITTOG FoO,

Gender discrimination Crime Act




C) VINOT BIW,NY AOTFTT FToO,
Civil Rights Protection Act
d) ©9©_ F0D9;3C AOOR, 3T BW,NY BT ToON,
Minorities Cultural Rights Preventive Act
100. A, 30T FPOCA* YIRBON). TOR a3 0RI ST DOTIWT €933
B IFPNS --------- BOODNT, ACTITT.
If your father is working in Police Department. Tell me the Sector of among them
a) RO0TEIB T[OHAD
Organized Sector
b) ©9R053¢33 3OO
Unorganized Sector
C) TR OO
Labour Sector
d) AOBEBIT 3OO
Public Sector
101. 88 TYNS BB LNY D), 3030F00) CRIDAT BHRP.

|dentify the movement which was organized by woman.

a) 5,3 33

Formers Movement

b) E0TI5e0R DR B3P

Acohol Prohibition Movement

C) TOET PP
Labour Movement

d) 3,303 BB

Freedom Movement




102. eDTY R0 3T308 R0
Child Help line Number is
a) 100

b) 10
c) 1908
d) 1098

103. B3, PELNPTR BT B30,0T BRTD.
Other name of Western Ghats is
a) 0e3008Y)

Himadri

b) BRI PELNFD
Eastern Ghats

C) ©TORY 3, NP
Aravali Ghats

d) R3o50Y) 23E3,ND

Sahyadri Mountain ranges

104. 259833 ¢) 83 To0DONE). BN a0I), FORFNY) R A0 s
In India, In this season Dew and fogs are common
a) 2RANRTO®

The Summer Season

b) 2DFM®
The Rainy Season

C) ANMEDN VRS, 20033 T
The Retreating Monsoon Season

d) eF¥M®

The Winter Season




105. SONY FOWON ToONEROT D0 ECINROT a0,

This soil is formed from the sediments deposited by the rivers.
a) T),, e,

Black Soils

b) ©05830,;€3% e300,
Laterite Soils

C) ST &N,
Alluvial Soll

d) 33 2N,

Mountain Soils

106. 30, 9T 2N &2 TR 9T g-------

Largest Forest: Madhya Pradesh: : Least Forest :
E)NANOINAD

Goa

b) To%A0, S
Rajastan

C) B0
Punjab

d) TQEEIT

Karnataka

107. 25003W 93503 AV 008 9BTED,, BTNG.
The Longest dam in India is

a) LOTYIONECY 3BT EN,,
Bhakra-Nangal Project
b) e3©a0€3,, 9BTEL,,

Alamatti Dam




C) VOMITIE S AONT LITHBTEID,,
The Nagarjuna Sagar Project
d) BoTOBTE 9B,

Hirakud Project

108. 2000 3TWE). €938 VD), 33,3330, WP NS T2

The Largest producer of rice in the country is
a) B,z WONOY

West Bengal
b) 30535333

Andra Pradesh
) V3T )3

Uttarpradesh
d) TRoe&dT

Karnataka

109. NM)eAICED TRNY AIPOTWN FOWORAT Bt YTONT.
Attempts are being made to convert Mud roads into metalled roads in Village is
a) Ny AWT® O3

Grama Sadak Yojana
b) Re3eaE W3R,
Golden Quadrilateral
C) 9, AN
District Roads
d) Tocy,,L0 B 0N
National Highways




110. 88 TFNS 23033 SFOHEA). MTIZATIS WOTTINP R, e303),a350 8.

Identify the Ports which are marks on a map.
a) TRW,,- c)TVDTE,0

Kochi — Visakhapatnam
b) TR®,59, -0y
Kolkata - Mumbai
C) TOOTI), —2F 4
Kandla - Chennai

d) SNONLRTY — N0,

Mangaluru - Mumbai

111. 88 TYNS 23033 SFZOHE), MHTIZRATIE 90ZTOR,,,LOI eIeOS )£
303,300 8.

Identify the International Airport which is mark on a map
a) 33388 0B LI0ITVTIR,, L0 )z EID, D

Chatrapathi Shivaji International Airport

b) QODTIMOOY 90TOTIRA,,LO JeNOS DD,
Indira Gandhi International Airport

C) IR AIPRR® 2FOTT) WRCA® 90ZTIR,,LOD e )DL
Netaji Subash Chandra Bose International Airport

d) FOBCMPT €90ZTDN,LON )z DD ED

Kempegowda International Airport

112. 22000 dBONSNT PVD), TODE N BRORDTI Doy

The state which has Jindal Vijayanagar Steel Ltd
a) 203

Odisha
b) &B3,23 WOMOY
West Bengal




C) eNT/ITIR,
Maharastra
d) TOEEIT

Karnataka

113. BT 9SNPOTT GVOEIDNIE SyANET JWI),
The Natural Disaster occur due to sea waves

a) W0N®
Drought

b) €333 2350003
Cyclones

C) AT 3CTT 733
Coastal Erosion

d) BRTOIS
Earthquakes

114. 2011 G &3)T90 NP ONT A0FT I &3)e3i00

According to the 2011, the literacy rate of women is
a) 82.14%

b) 75.14%
c) 65.46%

d) 72.46%

115. MYIRDALPNY) TIR, ____ SONPNRRDO0ETS ACTIC.
It is compulsory to conduct gram sabha meeting at least

a) 2003 30N
Once in a Month
b) eDRTY 30N

Once in three months




C) €33) 30N
Once in Six months
d) 2003 VRE

Once in a year

116. 20083TW Sy2s ©92D3yR, DOTWT LTI NN €92)e3,8), 0TI TP TI3T0.
“The development of its villages is the true development of India” is said by
a) ©903¢T3,0°

Dr. B. R Ambedkar
b) 3332
Nehru
C) NP0
Mahatma Gandhiji
d) ATET® &3 230030 &3¢3¢e>®
Sardar Vallabhbai Patel

117. DTWsDENE) SPTTTI FHDON VNDTFTB) FeeoSse00N e300 RIS D03
Generally Students, senior citizens and pensioners opened an account in bank is

a) QYL IVOD B3 3
Savings Bank Account
b) 3,3 Bea3ed 2303
Fixed Deposit Account
C) e3333F B33 W3
Recurring Deposit Account
d) 230¢). 953
Current Account
118. BAIN® JTOA BIYNP ), VTS ROA,

The Department which gives Kissan Vikas Patra is
a) 30 92083, 23950T°

Land Development Bank




b) AT 2Woz30T°
Cooperative Bank

C) 9830 DRI’ 23050T°
Reserve Bank of India

d) ©02F T2FHO

The Indian Postal Department

119. NYBTIN VTS 2NI3R0T) BATD
Another name of ‘User’
a) WF¥FT

Consumer

b) VI, BT
Producer

C) WPT;TT
Provider

d) LD30CT
Distributor

120. BDT/OOVTW WL 33 20 ©OF CRHDICNNPNOI B3I, NE.3 BRI, AR
TIEIAEAY
If the compensation is more than 20 lakhs, we should complaint at

a) SNC NYBT DT

City consumer Forum

b) 23059, NYBT XNT
District Forum

C) Do%sg N)BT 3A3REN
State Commission

d) Doy, L0 N™T e303/EMN

National Commission
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